Level 3 Maths Mat

Lucia is moim to bake a cake but she has
realised that she does not have m:osm} of
some Sww&\.msa. Fill ‘in the table with how much

more Lucia will need to Sﬁu\im the recipe:
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Shade 3 of the counters. ¢
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Fags 3 g th
Butter 3 @% / @% ’
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Each child ?so:m?, fruit to school. n. Use each number oss once to solve these m
subtraction 3:38:%
Fruit Number | Fruit Number
>§\m § Strawberries | 7 - 2013 S5116((7]18 H
OEEM 3 Plums L 17 - _g
\.‘3\8 3 Bananas L
/3 - =5
How many children ?8:&5 fruit :iéw
/5 - =10
W hat Swm of fruit did /3 of the children
w::@ that s\éw -0 =

Use the m\osw\\sm and }Q\S:m m?im@ fo
solve these w\ozms\a. Show your m\o:w\\.sm and

ym\Ssm Eolﬁ.sm out.

2 x Ik
18 x b =
10 x L

The time on the clock is

This time is the same as

twinkl.co.uk 7,
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